
CRYPTOQUIP | 1 

A Cryptograph is a substitution cipher in which one letter stands for another.   
If you think that X equals O, it will equal O throughout the puzzle.   
Single letters, short words and words using an apostrophe give you clues to locating 
vowels. 

 
 

 
CN  KYP  ICBGFCLPGX  EYEECXB  ZRR 
 
KXZF  RYOJ,  MYPRI  CG  LX  BZCI 
 
KYP’I  QZAX  ZOOPZR  EYENCGB? 
 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
 
Cryptoquip Clue:   Y = O
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A Cryptograph is a substitution cipher in which one letter stands for another.   
If you think that X equals O, it will equal O throughout the puzzle.   
Single letters, short words and words using an apostrophe give you clues to locating 
vowels. 

 
 
DEO  TESP  NGQT  DZZMD  ZJPCT; 
 
JVPGC DBEOZPD  FJT  APGQX   
 
VEVVT  KCEOZPD. 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
 
Cryptoquip Clue:   D = S 
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A Cryptograph is a substitution cipher in which one letter stands for another.   
If you think that X equals O, it will equal O throughout the puzzle.   
Single letters, short words and words using an apostrophe give you clues to locating 
vowels. 

 
 
PKWI  KYJOP  K  VOCMJE  QUJ  XJOCB 
 
K  WIAOSI  OCBIE  UIE  LMWWJQ   
 
SMAUP  YI  PMPWIB  “PUI  LJLLZ 
 
LEMCGIDD  KCB  PUI  LIK”. 
 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
 
Cryptoquip Clue:   P = T 
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A Cryptograph is a substitution cipher in which one letter stands for another.   
If you think that X equals O, it will equal O throughout the puzzle.   
Single letters, short words and words using an apostrophe give you clues to locating 
vowels. 

 
 
JXLOZB  DZOMASSXMBZ  QZXLDMSZ 
 
XJAEP  FAFFN  WXYZBK  BZXLK: 
 
“HZPZBXSK  PEBS  AHZB X SZI  DZXG”. 
 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
 
 
Cryptoquip Clue:   A = O 
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A Cryptograph is a substitution cipher in which one letter stands for another.   
If you think that X equals O, it will equal O throughout the puzzle.   
Single letters, short words and words using an apostrophe give you clues to locating 
vowels. 

 
C  EQNNQKU  JKQCUQE  FH  C   
 
RQUQKCB  CBE  UXQ  DAQQB  MW   
 
XQCKUN  JMAZE  FQ  JCZZQE  C  
 
SMSSH  UCKU. 
 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
 
Cryptoquip Clue:   U = T 
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A Cryptograph is a substitution cipher in which one letter stands for another.   
If you think that X equals O, it will equal O throughout the puzzle.   
Single letters, short words and words using an apostrophe give you clues to locating 
vowels. 

 

EO  S  CQPQUSG  YSCQ  BET   
 
TNQQPBQSUP  TAQWESF  BSGM- 
 
HSMQ  OFLNQUT  EG  OQVUISUD,   
 
WLIFMG’P  PBQD  VQ  WSFFQM 
 
“ALAADPEGQT”? 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
___________________________________ 
 
 
Cryptoquip Clue:   U = R 


